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Regarding computers CPU Stands for
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Choose correct matching

1, Army Chief General a. Dinesh Tripati
ii. Navy Chief Admiral b. Upendra Dvivedi
1. Air Chief Marshal C. Amar Preet Sing
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Minimum age required to elect as the President of India

1. 25 years
2. 30 years
3. 35 years

4. 40 years
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Which of the following nutrient stores maximum energy per
gram?

I Roughage
2, Fat

3. Proteins
4, Vitamins
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The famous ‘Sumathi Shatakam’ was written by
1. Dhurjati

2. Baddena

Mallikarjuna Panditaradhya
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Pandit Hari Prasad Chaurasia is renowned for playing which
musical instrument?

1 Tabla
2. Violin
3. Sitar
4. Flute
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‘Panchatantra’ was written during the
E Maurvan period

2. Kanishka period

Gupta period
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4. Harsha period
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The National Food Security Act was passed in the year
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Correct Marks : 0.5 Wrong Marks : 0

The headquarters of International Court of Justice is located in
the

L New York

2. Hague
3. London
4. Paris
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World AIDS Day is celebrated on

1.  July11®
2. December 1
3. June 5™

4. April 22"
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India’s first armed nuclear submarine 1s
1. [. N. S. Tihayu

2. I. N. S. Virat

3. [. N. S. Arihant

1. I. N. S. Astradharini
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The first Telugu talkie film was
1. Bhakta Prahlada
P Paduka Pattabhishekam
3. Shakuntala
4. Kalidasu
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‘Theology’ 1s a study of

1 Ancient Crivilizations
2. Human Psychology
3. Religions

4. Political Systems
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The term “bully” is connected with this sport

1. Cricket

2. Hockey

3. Badminton

4. Tennis
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The writer who won the National Sahitya Academy Award for
his novel ‘Shaptabhoomi” is

1. Sannapureddy Venkatarami Reddy
2. Bandi Narayana Swami

3. Singamaneni Narayana

4. Yandamuri Virendranath
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As per Jamili elections, after the completion of Lok Sabha and
Assembly elections. Municipal and Panchyat elections should
be completed within these days
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One of the following is not a member in Trump government
1. Elan Musk

2. Vivek Ramaswami

John. G. Robert

4, Linda Mc Mahos
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Dommaraju Gukesh became World Chess Grandmaster by
winning over

1. Liue Sheng
2. Asien Gava
3 Ding Leren

4. Mario Lisa
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Central government celebrated ‘Bharat Parv™ at Red fort on the

1. Independence Day
2. Republic Day

Tourism Day
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4. Constitutional Day
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The present RBI Governor
1. Sanjay Malhotra

2 Sanjay Deepankar
Sakthi Kanth Das
4, Jubilent Bharthia
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Twenty seats were allotted to girl children with special needs
in these educational institutions

1. Zilla Parishad Educational Institutions

2 Kashturbha Gandhi Girl Child Educational Institutions
3 Kendriya Vidyalayas

4. Gurukula Schools
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This requires for freedom of learning by children with special
needs

1. Flexible plan
2. Rigid plan

Teaching plan
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This method gives importance on speech skills through lip
reading developed by ‘Samuel Heinik’

1. Sign Method

2 Oral Method

3. Lecture Method

4, Question Method
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“Classroom would be a cinema theatre™ according to Herman.
then the students will be ...

1. Andience
2. Actors
* Dancers

4. Authors
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Main aim of the Education is
I Exams. Passing. Achievement
2 Providing Livelihood

Achieving Complete Personality
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4. Making Educationalists
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Main objective of this approach in making changes in thought,
expressions and behaviour in a child

1. Behavioural Approach
2, Developmental Approach
3 Multi sensory Approach
4. Diagnostic prescriptive Approach
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This scheme provides economic support to disabled by
non-government organization

1. Deendayal Teacher Rehabilitation Scheme

2. Deendayal Education Rehabilitation Scheme
3. Deenbandhu Education Rehabilitation Scheme
4. Deenbandhu Teacher Rehabilitation Scheme
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This clause focuses on learning needs of disabled under
“Education for all”

1. Clause - 3
2. Clause - 2
Clause - 1
4. Clause - 4
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Providing principles of safe and security situations among
disabled persons is suggested by

1. National Education Policy (1986)
2, Amended National Educational Policy (1992)

United Nations Charter
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4, National Curriculum Framework (2005)
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Date announced for National Policy of persons with disability
1.  10™December 2010

2. 10™ February 2006

10™ November 2006
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4. 10™ February 2010
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The four stages of Auditory Training are Awareness.
Discrimination, Identification and

1. Assessment

2 Generalization
3. Conversation

4, Comprehension
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‘Period of unbounded curiosity” is observed in children at the
age of

| 9 years
2. 10 years
3. 5 years
4. 8 years

3:9_;5; ForSmom 53 a’aﬁamﬁe ‘0B STPT0 ¥
?ﬁ:&:@@:&m
ik 9 K:ID-;:}’QE‘JG“E}J
2 10 ‘530;‘59‘.5‘35“&}3
3. 5 ﬁo;:ie:é“)aﬂm
4 8 moaﬁezén)c?m
Options :
1. %1
2. % 2

3.¢3
4. % 4

Question Number : 33 Question Id : 3922661153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Co-operation, leadership and self — directing behaviours are
develop in this play

1. Imitative play
2 Parallel play
3. Group play
4. Isolated play
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Find out the statement not related to the development

1. Development 1s a complex process

Z Development is not measurable

g, Development is qualitative

4, Development 1s not a continuous process

AFTHOKH HOWOROBA TSGR HQoBok.

1. D00 208 (H|SH
ey S—

2 DSTH00 SPesio @ﬁ@go o0

3 DT®HA0 Noesees &5@5&

4. 580 2ISSOOE® SIFH (HEcH
Options :
1. % 1
2. % )
3% 3
4.4 4

Question Number : 35 Question Id : 3922661155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following

1) The theory of moral development a) Bandura

11) Operant conditioning b) Sigmund Freud
iii) Social Cognitive Learning Development c¢) Kohlberg

iv) Theory of Psycho Analysis d) B. F. Skinner
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An instrument to express our feelings, i1deas and thoughts to
others

1. Speech

2 Thought
3. Vision

4. Listening
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The condition where the previous Ilearning shows no
difference in learning of a new activity is called

1. Zero transfer

2. Positive transfer

3. Negative transfer
4, Bilateral transfer
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Identify the term not suitable for the classification of learning
styles based on sensory organs

1. Visual learners

2. Auditory learners

3. Kinesthetic learners
4, Music learners
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Appreciating a child by saying ‘Shabhash® for getting good
marks refers to

1. Primary reinforcement

2. Secondary reinforcement
3. Social reinforcement

4, Negative remforcement
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Audio Visual Tools

1
2 Auditory Verbal Therapy
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Auditory Visual Technique
4. Aural Visual Therapy
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This lens diverge the light rays focus correctly on the retina

1. Concave lens
2. Convex lens
3. Multifocal lens
4. Bifocal lens
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These tests needed for diagnosis of Glaucoma & Scotoma

1. Lister’s Perimeter

2. Bjerrum’s Screen Test
3. Maddox Rod Test

4. Ishihara’s Test
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Amsler Grid Technique used for measuring this visual issues
1. Visual Acuity

2 Visual Field

A Visual Efficiency

4, Visual Angle
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This test 1s used to identify colour blindness
L. Snellen Chart

2. Happy Contrast Sensitivity

3. Amsler Grid

4. D 15 Panel
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The first school for Blind in India was established by

T S11 Lal Beharisha

2. Louis Braille

3. Anne Sharp

4, Captain Desai
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Visual Field of normal person in this circumference

L. 360° Horizontally 180° Vertically
2. 360° Vertically 180° Horizontally
3 180° Vertically 60° Horizontally

4. 180° Horizontally 60° Vertically
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This instrument used by persons with Visual Impairment to
find path free of obstacles and advance warning steps down

1. Laser Cane
2. Russell Path Sounder

Sonic Guide

L |

4. Bliss Passive Detector
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Parents of Persons with Disability will get this relaxation

i House tax

5 Income tax

3. Water tax

4 Entertainment tax
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Mathematics Anxiety Measurement Scale developed first in
this year
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This was established to understand the productivity and
competencies of the persons with disabilities

1. Rehabilitation Council of India

2. Persons with Disabled Act

3, District Rehabilitation Centre Scheme

4. National Education Policy
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Any abnormal or unusual defect in the structure. appearance in
body parts or its function due to heredity or environmental
factors. 1s called as

1. Handicap

2. Abnormality

3 Disability

4. Impairment
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Number of cells in Orbit reader - 20 to read in Braille
&552358&25-20 508 |Bowd 1S SESER3 Ko KEoo Dowg

1 80
2, 20
3. 50
4. 40

Options :
1. %1



2.9 2
3.% 3
4, % 4

Question Number : 53 Question Id : 3922661173 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“Braille Me™ instrument was developed by
| Max Vision Tech
2. Low Vision Tech

Inno Vision Tech

4, High Vision Tech
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Smaller Taylor Frame has this number of rows and columns
1 18 columns. 18 Rows
2. 25 colummns, 25 Rows

25 colummns. 18 Rows

[N

4, 18 colummns. 25 Rows
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This membrane in the eye protects the eye from infections and
wounds

1. Conjunctiva membrane

2 Ureal Tract membrane

3 Descemet’s membrane

4, Choroid membrane
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The child frequently kicks the objects in his way is referred as

1. Absence of Visual Acuity
2 Absence of Visual Efficiency
3. Absence of Visual Angle

4. Absence of Visual Field
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Follow this Electronic Brailler used by children with visual
impairment

2 Talking Calculator

2, Software

3. Mountbatten

4. Computer
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This is not the responsibility of regular teacher in the
Integrated Education Programme

1. Teaching Content

2. General Evaluation

[ ]

Identifving Textbook Problems

e

Teaching additional topics
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In Inclusive Education Programme this one is treated as
SUpPOItIVE service

1. Counselling to Parents
2. Issuing Medical Reports

Identification of children with disabilities
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TS T ATHOS” VALY DI BAY SORBLLL.

el

[a—Y

SDBOEOOK $o0|ge0 DS
[ a9}

2. E&:ES VRO oD

3. L0 Ko 2yoss HBoWEo

4. :ac:v§ SR DHPS500 DA

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 60 Question Id : 3922661180 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Inclusive Education is a
1. Part of the General education system

2. Apart from the General education system

Lok

Integral part of the General education system
4, Not related to General education system
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This 1s not considered as Teaching Learning Material to
children with Visual Impairment

1. Visible Materials

2 Audible Materials

3 Tangible Materials

4. Special Appliances and Equipments
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If selected technology is sufficiently popular in the local
environment. it can be called as

i; Acceptability

2. Accessibility

3 Validity

4. Availability
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This device converts optical images into vibrations or Sound
Signals

1 Russell path Sounder
2. Laser Cane

3. Mowat Sensor

4, Bliss passive Detector
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This evaluation 1s headed to improve slow learners reading
comprehension and learning skill in students.

1. Formative Evaluation
2. Remedial Evaluation
3 Sumimative Evaluation
4, Internal Evaluation
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“The only thing worse than being blind. is having sight but no

vision” said by

L Helen Keller

2 Louis Braille

3. Anne Sharp

4. Richardson
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This age 1s appropriate for Early Intervention Programs

) 0 to 9 years
2. 0 to & years
3. 0 to 6 years
4 0 to 7 years
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Needs coordination between these persons is essential for
early intervention to be successful

1. Parent and Child

2. Child and Professional

3. Child and Friend

4, Parent and Professionals
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Village Rehabilitation Centre for Blind started here with the
financial help of America in the vear 1973

1. Amritsar

2. Dehradun

3 Madhuri

4, Calcutta
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In the vear 1955 Training Centre established here for adults
with blind

1. Amritsar
2 Dehradun
3. Calcutta

4. Madhurai
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According to the Educationalists normal person get
information through eyes is
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This 1s not related to Cognition
1. Remembering
2. Producing and Understanding Language

Solving Problems

fsd

4, Lack of Attention
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Number of aspects involved in training for effective usage of
children with low vision
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According to this policy of Sarva Shiksha Abhyan. no school
age girl or boy should be out of the school.

1. Full Rejection Policy

2 Zero Rejection Policy

3. Special Services Rejection Policy

4. Education Rejection Policy
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This 1s not considered as statistical diagram

L. Pie diagram

-2

Histogram

Tad

Video gram
4 Frequency polygon
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Education that changes psychomotor behaviour in children.
thereby enabling them to develop self actualization. especially
appreciation of ability 1s

1. Self — help skalls
2. Adapted Physical Education

(4d

Creativity skills Education

4. Psychological Joyful Education
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Types in King — Sears concept of curriculum modification are
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This section of RPWD Act — 2016 provides one percent
reservation in jobs to the benchmark disability with Visual
Impairment
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Degrees of visual field of a person looking at his nose is
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Activity broken down into smaller steps called as

1. Task strengthening
2l Task Analysis
3 Task Rejection

4. Task Weaknesses
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Qualifying marks in exams for students with low vision in our

state 1s
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Approximate diameter of a healthy person eye ball
(1n centimeters)
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The eye accommodation means

L, Curvature of Ciliary Muscles
2 The ability of eye lens to adjust its focal length
3. Light enters through Cornea

4. Regulates Pupil size
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If the maximum distance point (far point) of one’s eye is
closer than infinity, his eye defect 1s

1. Trachoma
2. Glaucoma
3. Presbyopia
4. Myopia
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The optical aid that consists of a concave lens in upper portion
and convex lens in lower part 1s used for this eye defect

i Glaucoma

2 Trachoma

3 Night Blindness
4, Presbyopia
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These people are not eligible for Eye Donation
1. Those undergone cataract surgery
2 People with hypertension

Asthma patients

LS ]

4. People with communicable diseases like AIDS
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People under this age tend to have strong and elastic muscles
around the eyes

L 40 years
2 30 years
3. 20 vears
4. 10 years
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In eye test, the third row from the top in the Snellen chart
indicates this visual acuity
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The ability of a student to recognize these concepts 1s
demonstrated by these spatial skills of the eye

1. Drama. direction
! Distance. direction

Distance. door
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4. Drama. distance
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The subtle social interaction between teacher and learner in the
enrichment of the students learning experience is described as

b, Concrete Leaning

2. Abstract Leaning

3. Mediated Leaning

4. Direct Leaning
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This is not considered as attribute of educational concepts
1. Perceptibility

2. Learnability

R Usability

4. Invalidity
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This refers to the ability to perceive two dissimilar images
seen by each eye as one single mental image

L. Depth perception

2. Fusion

3. Visual Acuity

4. Refraction
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This 1s not in the principles of Universal Design of Learning

| 7 Enrollment

2. Engagement

3. Representation

4. Action and Expression
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This software designed with text — to speech output to read
screen for persons with Visual Impairment

i, Word Processor
2. Web Browser
3 Multimedia

4, Jaws
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Orientation and Mobility training have these types of Methods
for children with blind to move safely and mmdependently
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To enhance the residual vision of a child. teacher shall not
tollowed this activity

1. Discrimination and recognition of Geometric shapes

2, Discrimination and recognition of objects

[N

Discrimination and recognition of an individual
object from a group of objects

4, Shall not ask the child to recognize and sorting in a
group of objects
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National early childhood care and education policy is meant
for the children of this age group

1. Below 13 years
2. Below 14 years
3. Below 15 years
4. Below 6 years
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‘Enable India’ organization founded by

1 Smt. Umashree

2 Shanti Raghavan & Dipesh Sutariya
Mangulal Jethlal Shah
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4. Nowrojee Banajee
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While using “Sighted guide technique.” the student with visual
impairment should stand at this distance from the guide

1. Half step behind the Guide

2 Half step in front the Guide

3. One step behind the Guide

4, Two steps behind the Guide
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This instrument 1s used to detect objects within the distance of
4, 8. or 16 feet by the children with visual impairment

1. Handheld Mobility Device

2. Polaron

G. P. S. Device

4. Guided dogs
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The change in position of an object with time is called

i Acceleration
2. Force

3. Energy

4, Motion
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A simple pendulum of length ‘/° takes “x’ seconds to complete
10 oscillations and “y” seconds to complete 15 oscillations.

The ratio = 1s
¥
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If the athlete takes 22 seconds to go once around the circular
path of radius 35m. his speed is
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The incorrect statement regarding pressure among the
following 1s

1. It is the force acting on a unit area of the surface
2. Fluids can’t exert pressure

3. It’s units are Pascal.

4. It 1s always compressive in nature
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Force acting on a body 1s directly proportional to

1. momentum of the body

2, rate of change in inertia of the body

3. rate of change in momentum of the body
4, inertia of the body
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The correct relation between acceleration due to gravity (g)
and universal gravitational constant (G) 1s
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The ratio of CGS units to SI units of universal gravitational
constant (G) 1s
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The relation between Kinetic energy (K) and momentum (P) is
K®E (K) $08c50 @5533{0 (P) o 585 Booerd) Bev
RN tetarTe)

K2
1 | § e —
2m
K
g, P
2m
3 P=2mK
4 P =+2mK
Options :
1. % 1
2. % )
3.% 3
4.9 4

Question Number : 109 Question Id : 3922661229 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

. gl
A lamp consumes 1 KJ of electric energy in - minutes. The

power consumed 1s
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Sound can’t travel through

8 solids

2, vacuum
3. liquids
4. gases
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A person clapped his hands near a cliff and heard the echo
after *+" seconds. Velocity of sound 1s V" m/s then the
distance between person and cliff is
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Rate of evaporation of a liquid doesn’t depend on

L. Surface area

2 mass

3. temperature

4, amount of vapor present in surrounding air
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An object 1s placed at a distance ‘x’ from the plane mirror. The
distance between object and image 1s
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The radius of curvature of a plane convex lens in 20 cm and its

refractive index 1s = . The focal length of the lens is

|‘-.:||':)J

(1n centimeters)
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When electric current flows through a wire, match the
following

P) Heating X) Element
Q) Melt quickly Y) Fuse
R) Behaves like magnet Z) Electric bell
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There are ‘»’ 1dentical resistors each having resistance ‘R’. the
resultant resistance when joined in parallel is 4. then on
connecting them in series the resistance will come out to be
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A : Attraction 1s the sure test for magnetism
B : Repulsion is the sure test for magnetism
1. both A and B are correct

2. both A and B are incorrect

3 A correct, B incorrect

4. A incorrect. B correct
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Units of magnetic flux density is

weber’
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Correct precaution to be taken among the following during
lighting and thunderstorm and when you are away from home
15

1 Carrying an umbrella
2. Stay at elevated place

Stay m closed vehicles

Lad

4. Get shelter under the tall trees
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Stars appear to move from
1. west to east
.4 north to south

cast 1o west

LS ]

4. south to north
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In calcination. carbonate ore i1s converted to

1. oxide

2, sulphide

3. sulphate

4, carbide
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The adopted method to extract highly reactive metals from
their ores is

i Reduction with carbon

2. Reduction with carbon monoxide
3 Electrolysis of fused compounds
4, Auto reduction
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The structural formula of isopentane is
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The incorrect statement about soaps is

I Soap is a sodium salt of a higher fatty acid

2, Soap 1n an electrolyte

3. Soap molecule has hydrophilic and hydrophobic ends
4. In saponification reaction fatty acid treated with acids
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The correct observation. when iron nail is dropped in copper
sulphate solution is

1. Copper sulphate solution becomes colourless
2. Copper sulphate solution turns to greenish
3 Iron nail turns to blue

4. Brisk effervescence took place
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The wrong combination among the following is

1. Soda water - solution
2. Cough syrup - suspension
% Soft drink - single pure substance

4. Milk - colloid
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A : Liquds have no fixed shape but have a fixed volume.
Liquids are not rigid. they can change shape and flow.

A comrect. B incorrect

i el v

A incorrect. B correct

Both A & B incorrect

4. Both A & B correct
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Atomic masses of sodium and oxygen 23 u and 16u
respectively. the formula unit mass of sodium oxide is
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“No two electrons of the same atom can have all four quantum
numbers the same™ This 1s

1. Auf bau principle

2. Pauli exclusion principle
s Hunds Rule
4. Bohr — Bury principle
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Triads : Dobereiner : : Octaves : ]
1. John Newlands

2. Robert Boyle
3. Mendeleev
4. Mosley
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Assertion (A) : The second 1onization energy of an element 1s
higher than its first ionization energy

Reason (R) : More the atomic radius. less 1s the 1onization
energy

Both A and R incorrect

A comrect. R mcorrect

2 =

Both A and R are cormrect. but R 1s not correct
explanation of A

[N

4, Both A and R are correct and R 1s correct explanation of A
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The formation of anion do not depends on

1. High ionization potential
2, Small atomic size

3 High electron affinity

4. Low electro negativity
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X : Covalent compounds are gases or liquids at room
temperature
Y : Covalent compounds dissolve in non-polar solvents

1. Both X and Y incorrect
2. Both X and Y correct
3. X correct. Y incorrect
4. X incorrect. Y correct
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A piece of aluminum foil is dropped in to sodium hydroxide
solution. The gas evolved in this reaction is

1. Carbon dioxide

2 Oxygen

: Sulphur tr1 oxide

4. Hydrogen
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The plastic used to coat on nonstick cook ware 1s

& Melamine
2. Bakelite
3. Teflon
4, PVC
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The odd one among the following 1s

1. Paraffin wax

2. Bitumen

3 LPG

4. CNG
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The non-metal. which burns at room temperature in air is
1. Sulphur
2 Boron
3. Carbon
4. Phosphorus
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The incorrect statement about “Air’ is
1. Air 1s mixture of different gases

2, Earth is surrounded by a thin layer of air

LS ]

As we move higher the air gets denser

4. Water vapour in air is important for the water cycle in
nature
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In Chlor — Alkali process. the products are
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A student tested the given sample with universal indicator and
noticed that the colour of solution turns to orange. the solution

15

1 Base

2, Neutral

3. Acid

4, Amphotenic
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Question Number : 141 Question Id : 3922661261 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The old scientist who studied about “‘the movement of celestial
bodies™ and collected lot of information about this

1. Galileo

2. Archimedes
3 Tycho-Brahe
4. Issac Newton
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In which year Galileo made Telescope for the study of
movements of celestial bodies?
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The Educationist who developed *psycho motor domain’ of
the Taxonomy of educational objectives.

1. B.S. Bloom and others

2, D. R. Krathwohl

3. Elizabeth Simpson and R. H. Dave

4. Omell and Kelly
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When was ‘Roval society” was established in England?
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The Scientist who initiated practical studies in Sciences among
the given?

E: Galileo

2 William Harvey

3: Nicholas Copernicus
4. Roger Bacon
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A student compared two concepts/things of Physical Sciences
and gave the similarities and differences in between them.
Which objective is achieved by him?

1. Skall
2. Knowledge
3. Understanding

4. Application
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A student had identified “SO,™ gas with a filter paper dipped
in acidified K,C,0; solution. which changed its colour from
“orange” to “pale green” to which objective does it belongs?

1 Knowledge

2. Understanding
Skall

4. Application
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A student accepted his mistake openly in an experiment. To
which objective does it belongs?

L. Appreciation

2, Interest

3 Scientific attitude
4. Understanding
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Which is the first step in scientific method?
1. Identification of problem
2. Defining problem

Collection of data

T4l

Testing the hypothesis
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Teachers, subject experts, Non-teaching staff and other staff
untidily carryout this teaching process. Which of the following
is it?

i Lecturer method
2 Historical method
3 Team teaching

4. Micro teaching
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Which method of teaching was proposed by Thomas F. Gilbert ?

1. Team teaching

2 Mathetics programme
3. Micro teaching

4. Individual teaching
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A teacher has taken his students to “local water storage tank.
and has explained how the water 1s purified in the plants and
then allowed for distribution through pipes across the town™ —
To which method does the activity is related

1. Lecture method
2. Laboratory method
: Problem solving method

4. Project method
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In the laboratory one of the following “‘chemicals set” should
be stored separately

. Magnesium Oxide, Zinc Chloride

2 Hydrochloric Acid, Ammonium Hydroxide
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Barium Chloride. Calcium Chloride

oot

Potassium Carbonate. Zinc Chloride
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National Geo-physical research institute 1s located i which
State

1: Bihar
2. Assam
3. Kerala

4. Hyderabad
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One of the following gives comprehensive information about
each question of a test

1. Blue print
2 Question wise analysis
3. Weightage tables

4. Scoring key
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This teaching method makes teaching science to a visually
impaired student natural. interesting and adventurous

1. Historical Method

2, Deductive Method

3 Synthetic Method

4. Play way Method
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According to this report, if science is poorly taught and badly
learnt it is little more than burdening the mind with dead
mformation

2 Kothari Commission

2, Secondary Education Commission
3. University Grants Commission

4. Hunter Comimission
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This method is used to explain principles of Science. specific
theoretical aspects for students with visual impairment

i, Synthetic Method
2. Analytic Method
3. Lecture Method

4. Deductive Method
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A teacher symbolised three students as Earth. Moon and Sun

and made them stand in a line, rotate and revolve to explain
the Day — Night concept. This experience 1s

) Indirect Experience

2. Field trip Experience

3. Concrete Experience

4, Structured Experience
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This organ is called as “the eye of the blind™ for student with
visual impairment

i Ear

2. Nose

3. Tongue
4. Hand

e:iﬁ}éa‘;ao Ko doegd WS 3850 &' 53 CREEH)
?a&“bm;st*sa

¥ Do)
2 ;5.335:11)_
) aJrenk
4 =o
Options :
1.% 1
2. % )
3.% 3

4.9 4



